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Give the name and find the area of each regular polygon. Round your answer to the nearest tenth

if necessary. mmgm h@b’tﬂ. g}(\"
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Give the name and find the interior angie sum, the measure of 1 exterior angle, and the measure of
1 interior angle in the regular polygons below.
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Find the area of each.
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Find the volume of each figure. Round your answers to the nearest thousandth, if necessary.
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Find the surface area of each figure. Round your answers to the nearest thousandth, if necessary.
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Find the length of each arc. Round your answers to the nearest tenth. A
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Find the area of each sector. Round your answers to the nearest tenth.
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Find the measure of the arc or central angle indicated. Assume that lines which appear to be

diameters are actual diameters. PTY (= L’C\(\M Cu
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Find the length of the segment indicated. Round your answer to the nearest tenth if necessary.
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Use the information provided\to write the equation of each circle. (% = (Y- & Wy vy
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Find the measure of the arc or angle indicated. LA
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are
tangent. ‘
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Solve for x. Assume that lines which appear tangent are tangent.
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t 2 are rectangles. Solve each missing angle.
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# 3 is arhombus. Solve each missing angle.
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For 5 and 6, answer all of the following questions below.
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7. Solve for x.
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# 4 is a square, Solve each missing angle.
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8. Solve for x.




